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Base your answers to questions 1 through 5 on the Earth Science
Reference Tables and the diagram of the Earth below. Some of
the latitude and longitude lines have been labeled. Points 4
through E represent locations on the Earth's surface.

Base your answers to questions 7 through 10 on the diagram
below. The diagram illustrates the position of the Earth in
relation to the Sun on one particuiar day. Points 4, B, C,and D
are locations on the Earth's surface.
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L Wha§ are the approximate latitude and longitude of 7. What is the latitude of point 47
location 47
(1) 90°N {3y 15°N

{1} 105°N, 25°W
(2} 25°N, 105° W

(3) 25°N, 105°E
(4) 105°S,25°E

2. What do locations A4, B, and £ have in common?
{1) They are in the same season.
{2) They have the same local time.
(3} They have the same prevailing wind direction.
(4} They are at the same Iatitude.

3. The latitude 2nd longitude of which location are closest to
those of New York State?

(1) 4
2y B

(3) €
4 D

4. What is the approximate time at location D?
{1} 6am. (3) 6pm.
{Z) noecn (4) midnight

5. Asatraveler goes from location 4 to location B, the
altitude of Polaris wiil

(1) decrease
{2) increase

(3} remain the same

6. The occurrence of earthquakes along a fault in New York
State is an example of a
{1} eyclic change that can be predicted
(2) cyclic change that cannot be predicted
(3) noncyclic change that is easy to predict
{4} noncyclic change that is difficult to predict

(2) 23 I/2°N 4 o

8. Which month is represented by the diagram?
{1} March (3) September
{2} June (4) December

9. The time at point 4 is closest to
(1) 6am.
(2) 9am.

(3) 12 noon
(4) 6pm.

10. During the day represented in the diagram, how would the
number of daylight hours for point 4 compare to the
number of daylight hours for point B?

(1} Point 4 has fewer daylight hours than point B.

(2) Point 4 has more daylight hours than point 5.

(3) Point A4 has the same number of daylight hours as
point B,

11. If a wooden block were cut into eight identical pieces, the
density of each piece compared to the density of the
original block would be
{1) fess
(2) greater

(3) the same
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Base your answers to questions 12 through 15 on the Earth
Science Reference Tables and the topographic map below. The
map represents Keuka Lake, one of the Finger Lakes in New

York State. Branchport, Hammondsport, and Penn Yan are towns

near the lake.

Topographic Map

Hammonds,

12. Which statement provides the best evidence that Keuka
Lake formed as a result of continental glaciation?
(1} The lake has a forked shape.
{2) Residual soils are common around the lake.
(3} The lake fills & U-shaped valley.
(4} The surface of the lake is below sea level.

13. In which landscape region of New York State are the
Finger Lakes located?
(1} the Catskills
(2) Allegheny Plateau
(3} Erie-Ontario Lowlands
(4} Hudson-Mohawk Lowlands

I4. According to the map, about how many miles long is

Keuka Lake?
(1) 15 3) 24
(2) 19 (4) 29

15. If the lake level were to rise to 1,000 feet above sea level,

the area at A would

(1) become an island

(2) be under water

(3} remain attached to the mainland to the north
(4) become attached to the mainland to the south

Base your answers to questions 16 through 19 on the Earth
Science Reference Tables and the diagrams below. Diagram |
represents a stream's profile before an earthquake. Diagram II
represents the same stream's profilte after an earthquake clevated
a portion of the land and produced a waterfall.
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16. What was the approximate average gradient of the stream

before the earthquake?
(1} 0.5 m/km (3) 10m/km
(2) 2 mikm (4) 20 m/km

17. If no more earthquakes occur during the next several
hundred years, the waterfail will most likely
{1) move closer to position 4 because of erosion
(2) remain at position B because of dynamic equilibrium
(3) move closer to position C because of deposition
{4) move closer to position C because of crustal
movemens

18. After the earthquake, the maximum stream velocity was
250 centimeters per second. The largest particles that could
be transported by this stream are
{1y sand (3) cobbles
(2) pebbles {4) boulders

19. Compared to the stream's average gradient before the
carthquake, the stream's average gradient after the
earthquake is
(1) less {3) the same

(2} greater

20, At 7:00 a.m,, the ajr pressure was 1,012 millibars. By
11:00 a.m., the air pressure had dropped to 1,004 millibass.
What was the rate of change in the air pressure?

(1) 16 mb/hr (3) 8mb/hr
(2) 2 mb/hr (4} 4 mb/hr
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21. Base your answer 1o the following question on the latitude | Base your answers to questions 23 through 27 on the Earth
and longitude system shown below. The map represents a | Science Reference Tables and the diagram below, The diagram
part of the Earth's surface and its latitude-Jongitude represents latitude and longitede lines on Earth, Points 4 through
coordinates. Points 4 through £ represent locations in this | E represent locations on Earth. Arrows reprasent direction of
area, rotation.

70°N
North Pole . -
B E Prime Meridian (0°)
? © 60° N
o2 50° N
‘C 40°N
#D 30° N
QF 20°N
90°W B0°W 70°W B0°W 50°W 40°W
How are latitude and longitude lines drawn on a globe of
the Barth?
(1) Latitude lines are parallel and longitude lines meet at
the poles.
(2) Latitude lines are parallel and fongitude lines meet at
the Equator.
(3) Longitude lines are paralle and lafitnde lines meet at . . . . .
the poles 23. What is the approximate latitude and longitude of location
) 9
(4) Longitude lines are paralle! and latitude lines meet at A?
the Equag{)r' (1) 160° N, 15° E (3) 150 N, 1600 E
(2) 160°8,15° W (4) 15°N, 160° W
22. The graph below shows the relative amount of air pollution
over a cify for a period of several years. 24, When the local time at location Cis 3 p.m., the local time
at location D is
Air Polfulion in r City (E) ! pm. (3) 3 p-m.
2y 5Spm. ) 3am.
=
ﬁ 25. Locations C and I3 both have the same
g (1) prevailing wind direction (3) altitude of Polaris
B (2) latitude (4) longitude
E , ) . ' i 26. Which location has the longest duration of insolation on
Jan. Jan. Jan, Jan. Jab, December 217
1985 &
1987 1988 1989 1950 (1} 4 3) ¢
@ B (4) E

Which statement about air pollution over this city is best
supported by the graph?

(1) Itis decreasing at a constant rate.

(2) Itis increasing at a constant rate.

(3) Itisacyclic event.

(4) Tt has no pattern.

27. At which location will the Sun reach the highest angle
above the horizon at solar noon?

(1 4 3 C
@) E 4 D
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Base your answers (o questions 28 through 32 on the Earth
Science Reference Tables and the contour map below. Points 4
through F represent focations on the map.

: NORTH
0 1 2 T
SCALE fkmj

Contour interval = 10 meters

28. What is the most likely elevation of the surface of Sunfish

Lake?
() 151m (3) 55m
(2) 140m (4) 28 m
29, Which statement about hill C is best supported by the
map?
(1) Hill C is located approximately 2 km west of Cedar
River,

{2) The steepest slope of hilt C is on the western side.
{3) Hill C has been shaped by glaciers.
(4) The highest possible elevation of hifl C'is 179 m.

30. Ifno elevation values were given, which general rule could
be used to establish that Cedar River flows into Sunfish
Lake?

(1) Rivers shown on maps generally flow southward.

(2} Rivers always flow toward large bodies of water.

{3) Contour lines bend upstream when crossing a river.

(4) A large body of water is generally the source of water

for a river.
31. Which location has the same elevation as location D?
(1) 4 3y C
) £ (4) F

32. Which diagram best represents the topographic profile
from location 4 to location F?

{1} &)}

ELEVATION {m}

(4)

ELEVATION (=)

Base your answers to questions 33 through 37 on the Earth
Science Reference Tables and the diagrams below, The diagrams
represent four different mineral samnples with different shapes
and masses, Diagrams are not drawn to scale.

Mass =24.0¢

Mass =12.0g
Volume = 4.0 cm?®

Volure = 4.0 om®

Mass = 16.0 g
Volume = 4,0 am?

Mass = 20.0 g
Volume = 4.0 om®

33. Which instrument was most likely used to find the volume
of each sample?

(1) graduated cylinder
{2} balance

(3) thermometer
(4) psychrometer

34. A second sample of mineral 4 has a mass of 48 grams.
What is the volume of this sample?
(1) 24.0 em® (3) 12.0 cm®
(2) 16.0em’ (4) 4.0 cm®

35. A student finds the mass of sample B to be 17.5 grams.
What is the student’s approximate percent deviation
(percentage of error)?
(1) 1L.5% (3) 8.3%
(2) 6.7% 4) 94%

36. Which sample would most likely be the slowest to settle in
a quiet body of water?
(1) 4 @ C
2) B 4 D
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40. An observer recorded the barometric pressure while

37. Which graph best represents the density of each sample?
traveling up the west side of a mountain and down the

(1} (3) D
‘g o other side. Which graph best represents the probable air
g e 8 A pressure changes that were observed?
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38, Which staterment about a rock sample is most likely an DFRT R sie TP EOe

inference?

(1) 'The rock has fiat sides and sharp corners.

(2) The rock is made of small, dark-colored crystals.
(3} The rock has thin, distinct layers,

{4) The rock has changed color due to weathering.

39, The topographic map below shows the island of Hawati.
Elevations are measured in feet.

z 25
Haia]i

Pacific Qcean

10 20  30miles

What is the approximate average gradient along line XT7

(1} 200 fmi
() 400 fi/mi

(3) 800 ft/mi
{4y 1,000 ft/mi
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41. Base your answer to the following question on the Larth Science Reference Tables, the diagrams below, and your knowledge of Barth
science. The diagrams represent five substances, 4 through E, at the same temperature. Some mass, volume, and density vahies are
indicated for each substance. Substance C is a liquid in a graduated cylinder, [Note that 1 cubic centimeter = 1 milliliter. Objects are not
drawn to scale.]

Mass = 8.0 g Mass =8.0g Mass of liquid=? g

Volume = 2,0 cm? Volume = 5.0 cm® Volume of liquid = ? mL

Density = 4.0 g/lom® Density = ? glem® Density of liquid = 1.2 g/mL
A B C

cm
3cm
Mass = 0.8¢g Mass = 54.0 g
Volume = ? om?® Volume = ? om®
Density = 0.4 glom® Density = ? gfcm®
D E

Water (W) was added to the graduated cylinder containing liquid C. Objects 4 and D were then dropped into the cylinder. Which diagram most
accurately shows the resuliing arrangement of these substances?

DR @) )
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42. A student calculates the densities of five different pieces of
aluminum, each having a different volume. Which graph
best represents this relationship?

Base your answers to questions 45 through 49 on the Earth
Science Reference Tables and the topographic map below, The
topographic map represents elevation contours measured in

(1) (3) 4 meters. Four straight lines, 48, CD, EF, and GH, have been
z i E drawn for reference purposes.
g 2
] 8 T
i i
o VGLUME = = YOLUME - MILL CREEK
Gﬁg G
NN @y
@ @
&= =
1 &
! -:;’OLLIME-a- | —VOLUME =

43. A student examined a patch of mud and recorded several
staternents about footprints in the mud, Which statement is
most likely an inference?

(1) There are five footprints in the mud.

{2} The depth of the deepest footprint is 3 centimeters.
(3) The footprints were made by 2 dog.

{4} The footprints are oriented in an east-west direction.

44, At which latitude could the Sun be viewed most nearly

overhead at noon during the month of June?
(1) 23%°N (3} 664" N
(2) 45°N (4} 90°N

B
/
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1 o0

o
®
s
;1 40
1&°
L~

o X

£ / / F
e NORTH
5 10
SCALE kilometers) ?
45. What could be the elevation of point X7
{1 819m (3) 84im
(2) 826 m (4) 850m
46. Which profile below most likely represents cross section
GH?
1) (3

@) (4)

47. What is the general direction of flow of Mill Creek?
{3 north to south

{4) south {o nosth

(1) eastto west
(2) westio east

48. Between which two locations is the gradient approximately
15 meters per kilometer?
(1) Aand B (3) Cand D
(2) Eand F (4y Gand H
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49. If uplifting and leveling forces are in a state of dynamic
equilibrium, the average elevation of the area will

(1) decrease (3} remain the same
{2) increase

Bage your answers to questions 50 through 53 on the map below.
The map shows houses, individual dritied water wells, and the

amount of insecticide, in parts per million (ppm), in each well
except the well at house Q. The insecticide was spread on the

lawn of one of the houses and has seeped into the ground water.

50. The liquid insecticide is most likely to infiltrate the soil
when the soil is
(1) permeable and saturated
{2) permeable and unsaturated
(3) impermeable and saturated
(4) impermeable and unsaturated

51. Which surface is most likely to have the greatest ranoff

from a heavy rainstorm?
(1) the pavement of Elm Street
(2) the level grassy lawn of house B

(3) the sand-covered yard of newly constructed house

(4) the tree-covered area near house

52. The amount of insecticide in the well at house  would

most likely be
{1y 180 ppm (3} 90 ppm
{2) 120 ppm {4} 20 ppm

80 pprn 80 pprm 70 ppm
@ ® &
Elm Stroet
70 ®
2 120 ppm
90 pgn E H .
@ 100 ppm N
; ; E[ ® ? 0 18 20 30 40 50 meters

53,

54.

33.

‘Which isoline map best represents the amounts of
insecticide in the wells?

(1)

(3

9

1@

@ (4)
A ,

L AT e ST

WS\

AN

A classification system is based on the use of

(1) the human senses to observe properties of objects

{2} instruments to observe properties of objects

{3) observed properties to group objects with similar
characteristics

{4) inferences to make observations

The profile below shows four regions of the ocean bottom.

j4—— Continental margin ———+lw—QOcearn—»
" basin

G"%

0 100 200 300 400 500 600 700 800
Distance (km)

In which list are these regions arranged in order of gradient
from least steep to most steep?

{1} rise —yabyssal plain -» shelf s slope

(2) slope -y rise — shelf — abyssal plain

(3) abyssai plain — shelf — rise ..y slope

(4) shelf — abyssal plain — rise — slope
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56. The diagram at the right represents a
cylinder which contains four different
liquids, ¥, X, ¥, and Z, each with a
different density {D) as indicated, A piece

all

of solid quattz having a density 6f 2.7 D:1.0 g/&m?
g/om’ is placed on the surface of liquid \65’/
W. When the quartz is released, it will

pass through m

®

60. Which location has the lowest elevation?
(1) 4 3 C
() £ (4 D

61. What is the approximate length of the raifroad tracks
shown on the map?

(1) 15km
(2) 12 km

(3) 8km
(4) 4km

D+3.0 g/om®

el

(1) W,butnotX, Y, or Z
(2) Wand X, butnot Yor Z

(3) W, X,and ¥, butnot Z
(4 W, X,Y,and Z

57. Base your answer io the following question on the Earth
Science Reference Tables.

At which New York State location is the altitude of Polaris
closest to 42°7

(1) Albany
(2) Rochester

(3) Stide Mt.
(4) Mt Marcy

Base your answers to questions 58 through 62 on the topographic
map below. Letters 4 through F represent locations on the map.

Raiiroad

58. What is the contour interval of this map?
(1} 10m {3) 100m
(2) 50m {4y 150m

59. Toward which direction does Moody Creek flow
(I} southwest {3) northeast
{2) northwest (4) southeast

nag_ggr@;ps

line from point D to point C7

() ©)
5 £
3 5
i [}
2 @)
w Wi

63. According to the data below, what is the exact shape of the
Earth?

Actual Dimensions of the Earth

Equatorial Radius 6,378 km
Polar Radius 6,357 km
Equatorial Circumference 40,076 km
Polar Circumference 40,008 km

slightly flattened at both the Equator and the Poles
slightly bulging at both the Equator and the Poles
slightly flattened at the Equator and slightly bulging at
the Poles

slightly flattened at the Poles and slightly bulging at
‘the Equator

(H
@)
(3}

(4}

64. Which diagram most accurately shows the cross-sectional
shape of the Earth drawn to scale?

O O
O o

4)
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63.

66.

a7.

68.

69.

Which observation would be most difficait to measure?

(1) the amount that Mt. Marcy weathers during one year

(2) the change in volume of Kaaterskill Creek during the
24 hours after a heavy rainstorm

{3) the daily change in water elevation from high to low
tides of the Hudson River at Catskill, New York

(4) the angle of insolation at ncon in Albany, New York,

from March 21 to June 21

Base your answer to the foliowing question on the Earth
Science Reference Tables.

What do the tropopause, stratopause, and mesopause all

have in common?

(1) Each is a point of maximum temperature in its layer of]
the atmosphere,

{(2) Each is an interface between two layers of the
atmosphere.

(3) Each is a region of increasing pressure within the

atmosphere.

(4) Each is a zone of decreasing water vapor content

within the atmosphere.

The north-south distance between the Earth's Equator (0%

and the North Pole (90° V) is 10,002 kilometers. The

distance between 0" and 10° N is 1,106 kilometers. Which

statement is best supported by this information?

{1} The shape of the Earth is not perfectly spherical.

(2} The lines of longitade are not paraliel.

(3} The north-south distance for every 10° of latitude is a
constant value,

(4) The Earth's equatorial radius and polar radius are
equal.

Compared to the weight of a person at the North Pole, the
weight of the same person at the Equator would be

(1} slightly less, because the person is farther from the
center of Earth

slightly less, because the person is closer to the center
of Earth

slightly more, because the person is farther from the
center of Earth

slightly more, because the person is closer o the
center of Earth

(2)
3)
4
Base your answer to the following question on the Earth
Seience Reference Tables.

The ratio of nitrogen to oxygen, by volume, in the Earth's
troposphere {s approximately

(1) 41
@) 21

(3) 1:4
(4) 12

70.

71.

72.

73.

74.

75.

Base your answer to the following question on the Earth
Science Reference Tables.

Point 4 and point B are locations §.24 mile apart on a ski
slope in norther New York. Point 4 has an elevation of
1,560 feet and point B has an elevation of 1,800 feet. What
is the gradient between these points?

(1) 60 ft/mi {3) 500 f/mi

(2) 240 ft/mi (4) 1,000 ft/mi

The best evidence of the Barth's nearly sphericai shape is
obtained through

(1) telescopic observations of other planets

(2) photographs of the Earth from an orbiting satellite

(3) observations of the Sun's altitude made during the day
{4) observations of the Moon made during lunar eclipses

Which statement provides the best evidence that the Earth

has a nearly spherical shape?

(1) The Sun has a spherical shape.

(2) The altitude of Polaris changes in a definite pattem as
an observer's latitude changes.

(3) Star trails photographed over a period of time show a
circular path.

{4) The lengths of noontime shadows change throughout

the year,

Base your answer to the following guestion on the Earth
Science Reference Tables,

A person measures the length of a piece of wood 1o be 41
centimeters. If the actual length is 40. centimeters, what is
the percent deviation (percent of error) from the actual
length? : : : -
(1) 1.0%

(2) 2.5%

(3) 5.0%
) 9.8%

Base your answer to the following question on the Earth
Science Reference Tables.

An observer incorrectly measured the mass of a rock as
428.7 grams. The actual mass was 450.0 grams. What was
the observer's approximate percentage of error?

(1) 3.0% (3) 43%

(2) 2.1% 4 4.7%

Base your answer to the following question on the Earth
Science Reference Tables.

An empty 250-milliliter beaker has a mass of 60 grams.
When 100 milliliters of oil is added to the beaker, the total
mass is 140 grams. The density of the oil is approximately
(1) 1.7 giml (3) 0.8 g/mi

(2) 14 g/ml (4) 0.6 g/ml
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76.

7.

the Earth Science Reference Tables.

What is the approximate temperature of the mesosphere at
an elevation of 68 kilometers above sea level?

(1 ¢°C (3) -55°C
() 42°C (4) -90°C
Base your answer to the following question on the Earth

Science Reference Tables.

78.

79.

80, Which graph best illustrates the relative density of Earth's atmosphers, lithosphere, and hydrosphere?

Spot?

(1y 50N, 120 W (3) 25N, 158 W

(2) 25N, I58E (4) 258,158 E

The true shape of the Earth is best described as a

{1) perfect sphere (3) stightly oblate sphere

(2) perfect ellipse (4) highly eccentric
ellipse

As a volume of air expands due to heating, the density of

this atr will
(1) decrease (3) remain the same
(2) increase

A.ppmximagely B R e i of the Hawangot i

(1) Wore, g 2) m (3) mor
» ore

D g Dens: eng

> &

5 #

[~ ri)

gl &

5 i Les
Dense - o é*gg Dense

Atmo, Litho, Hydre,

e
Atmo, Litho. Hydro,

Atmo, Litho, Hydro.

4) More
@ Dens

Density

ies
Dense
Ao, Litho, Hydro,
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Base your answers to questions 81 through 8% on the Earth Science Reference Tables and the diagram below. The diagram shows the latitude

zones of the Farth.

Percant of

Lalitude mann's args LBHiude zones:

N T TImE_—_T-North Polar
oo 500 % Arctie
. 204 % w‘\St.sbarctlc
1228% | North Middle-Latitude
Arctle Circie M
662"
\ 752 | age e
P - 7.85% | North Subtropica)
ED
30;/ / 1245 9% NorthTropigal
o — o 100 S ‘
10 ,'f_ . ¥ropic of Gancer 251z i\ )
L R R Equator == === ==~ ~] 7,56 % Equatoria
10
Trople of Gapricom 23t
25’\""“;"“2"""_2'"'""“““";/ \___106:___.__.__.______-
a5° £
\ ' /\ 1245% | Souh Tropical
8¢ .
60° /\ b BEP mormsimimmnmmmsramirmiremiipon
___________ 7.55 % South Subtropleal
Amgarctic -7 757 L S P
Clrcle 682°
12.28% Bouth Middle-Latilude
B 22: T amw | Bubantarctic
L g 500% Antarclic
[ g0t o L0 % T South Polar

81. What is the total number of degrees of latitudecevered by the Equatoriai zone?

1y o°

82. In which latitude zone is New
{1} North Middle-Latitude

(2) 10°

Y ork State located?
(2) North Subtropical

3y 17

(3) North Tropical

4 20°

(4) North Polar

83. Which graph best represents the relationship between average yearly temperatures and latitude?

(1 = mHot 2) %\QHO! . @) %@Ho_t _ (4) %“Hoi
g5 55 85 83
5 :;; [ =8 z il
@ @ @ H]
o & o0 o T
oy A S = =l
< Goid < cold <" Cold = Cold
g0°N 00 90°§ 80°N 0> 90°8 90°N  0° 90°3 90" N 0° Q0°S
Latitude Latitude Latitude Latifude
84. Which zone receives the greatest intensity of sunlight on June 217
(1) North Tropical (2) Equatorial (3) South Tropical (4) North Polar

85. The locations of the Tropic of Cancer and the Tropic of Capricorn are set at 23%° from the Equator because the
(1) Earth is slightly bulged at the equatorial region
(2) direct rays of the Sun move between these latitudes
(3) Axctic Circle and the Antarctic Circle are 2314° from the poles
(4) center of the Barth's gravitational field is located 23%° from the Equator
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Base your answets {0 questions 86 through 89 on the Earth Science Reference Tables and the contour map below. Points 4, B, C, D, X,and ¥
are locations on the map, Elevations are expressed in feet. the maximum elevation of Basket Dome is indicated at point X.

TENAYA
CANYON
NORTH

86. In which general direction does Tenaya Stream flow?
(3) southwest to norheast (4) northeast to southwest

{1) southeast to northwest (2) northwest to southeast

87. Which graph best represents the profile along a line between point B and point A7
() (2) E). (4 Stream

& B Stream 5 Stream js: Stream 5

3[) § g E

ks k ks A

u LL} 1Ll i

88. The highest elevation on the map is at point

3y ¢ 4) D

(Hh X 2y v
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89. The highest elevation of Basket Dome 40 years ago was measured at 7,600 feet. What is the rate of change in elevation for this area?
(1) 0.6infyr 2y 1.7 in/yr 3y 24 infyr {4y 401infyr

Base your answers to questions 90 through 92 on the map below. The map shows a pertion of the eastern United States with New York State
shaded. The isolines on the map indicate the average yearly total snowfall, in inches, recorded over a 20-year period. Points 4, B. and Care
locations on Earth's surface. Latitude and longitude coordinates are shown along the border of the map.

T 11
G 80 100 miles

The diagram below shows the location of five cities in New York State.

Rdbhestar gfacuse *Uica

Buffalo .
Alpany,

90. Location C has a lower average yearly snowfall than location A primarily because location C has a
(1} lower latitude (3) higher elevation
{2) higher longitude (4) different prevailing wind direction

91. What is the approximate average yearly total snowfall gradient between locations A and B?
{1} 0.25in/ml {2) 2.50 in/ml (3) 0.40 in/ml {4y 4.00in/ml
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| for each of the five cities displayed in the lower map?

92. Which graph best represents the total average annual snowfal

[
o o
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™

{u1) yeymous
enuuy afieisny [Blo)

3)

50

2001

O]

Y
<
i

() reymoug
renuuy sfisiony @IaL

City

City

o
[=]
3] - -
(L} egmous
ey abeoay [BI0F
—
=
g 8 8 8 °
(D) repmous
jenuuy ebeleay [Bjo]
~~—
g
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Base your answers to questions 93 through 97 on the Earth Science Reference Tables, the topographic map below, and your knowledge of

Earth science. Points 4, B, X, and ¥ are locations on the tmap. Elevations are shown in feet.

Rock i
B>

0 1
Distance {(miles)
Contour interval = 20 feet

Symbots Key

A Triangulation point w House
Depression
& School Y cor?tours
83 Mine ++  Rallroad
Sz 2z Roads

{4) northeast

93, In which general direction is Etm Brook flowing?
{2) southeast {3} northwest

(1) southwest
94. What is the approximate elevation of the triangulation point on the top of Rock Hill?
(1) 124t (2) 1391t (3) 1441 (4) 1694
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95. Which diagram best represents the topographic profile along a straight line from point 4 to point B?
3) (4

™ (2)
A
5 5 5 81 b
8 IS [ il
= = = >
Q @ @ @ B
Ti| i ] ol B
B
A 8
96. Which side of Center Hill has the steepest slope?
(1} north (2) south (3) east (4) west
97. What is the average gradient along a straight line between point X and point ¥7
(1) 30 ft/mi # {2) 40 ftymi (3) 60 ft/mi (4y 70 ft/mi

Base your answers to questions 98 through 100 on the map below, which shows a portion of a drumlin field near Palmyra, New York.

Elevations are in feet.

I

98. What is the contour interval of this map?
(1) 5ft (2y 101t (3y 201ft (4) 251t

99. At this location, the glacial ice generally advanced from the
(1} north {2} south {3) east

100. These drumlins are composed of sediments transported and deposited directly by glacial ice. These sediments are likely to be
(1) well-rounded, sand-sized particles (3) unsorted and not in layers
(4) found underwater, mixed with organic materials

(2) well sorted in horizonta] layers

{4y west
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